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1. Which literature in Tamil is called as “Irumbu Kadalai”? 
a. Natrinai    b. Pathitrupathu   c. Paripaadal 
d. Puranaanooru  e. Answer not known 
‘,Uk;Gf; fliy’ vd miof;fg;gLk; gDty; vJ 
a. ew;wpiz   b. gjpw;Wg;gj;J   c. ghpghly; 
d. GwehD}W   e. tpil njhpatpy;iy 
 

2. Which one of the following does not come under the genre of historical novel? 
1. Sivagamiyin sabadham   
2. Yavana Rani  
3. Sembiyan Selvi 
4. Sundhari 
a. 1  b. 2  c. 3  d. 4  e. Answer not known 
nghUj;jkw;w ehty; tifiaf; fz;lwpf. fPo;fhz;gdtw;wpy; vJ tuyhw;Wg; Gjpdj;jpy; 
mikahjJ? 
1. rptfhkpapd; rgjk; 
2. atduhzp 
3. nrk;gpad; nry;tp 
4. Re;jhp 
a. 1  b. 2  c. 3  d. 4  e. tpil njhpatpy;iy 
 

3. Whose songs were mentioned as “the origin of Literature” by Sekkizhar? 
a. Thirunavukarasar b. Thirugnanasambandar  c. Sundarar   
d. Manikavasagar  e. Answer not known 
Nrf;fpohh; ahUila ghly;fis ‘%y ,yf;fpak;’ vdf; Fwpg;gpLfpwhh;? 
a. jpUehTf;furh;  b. jpUQhdrk;ge;jh;   c. Re;juh; 
d. khzpf;fthrfh;  e. tpil njhpatpy;iy 

 
4. “Hindu Marriages (Tamil Nadu) Amendment Bill” was introduced in the year 1967 by 

a. Rajaji   b. Kumarasamy Raja  c. Kamarajar  
d. C.N. Anna Durai  e. Answer not known 
1967 Mk; Mz;L “,e;J jpUkzq;fs; (jkpo;ehL) jpUj;j kNrhjh” it 
mwpKfg;gLj;jpath; 
a. uh[h[p   b. Fkhurhkp uh[h   c. fhkuhrh; 
d. rp.vd;. mz;zhJiu  e. tpil njhpatpy;iy 
 

5. During 1962 election, in which constituency Anns was defeated? 
a. Chennai    b. Kanchipuram   c. Salem 
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d. Nagar koil   e. Answer not known 
1962 Mk; Mz;L Njh;jypy; NguwpQh; mz;zh Nghl;bapl;Lj; Njhy;tpaile;j njhFjp 
vJ? 
a. nrd;id   b. fhQ;rpGuk;   c. Nryk; 
d. ehfh;Nfhtpy;  e. tpil njhpatpy;iy 
 

6. In which year South Indian Liberal Federation was formed? 
a. 1914 b. 1915 c. 1916  d. 1917 e. Answer not known 
njd;dpe;jpa ey chpik rq;fk; ve;j Mz;L cUthf;fg;gl;lJ? 
a. 1914 b. 1915 c. 1916  d. 1917 e. tpil njhpatpy;iy 
 

7. Periyar E.V. Ramasamy organised the Superstition eradication conference at salem in 
the year 
a. 1968 b. 1969 c. 1971  d. 1973 e. Answer not known 
nghpahh; <.Nt. ,uhkrhkp mth;fs; ve;j Mz;L Nryj;jpy; %l ek;gpf;if xopg;G 
khehl;bid elj;jpdhh;? 
a. 1968 b. 1969 c. 1971  d. 1973 e. tpil njhpatpy;iy 
 

8. Subramaniya Bharathiar was gifted with poetic talents right from his childhood. He 
received a title “Bharathi” from which of the following king gave this title and at what 
age? 
a. King of Ramnad at the age of 10 b. King of Ettayapuram of the age f 11 
c. King of Sivaganga at the age of 12 d. King of Pudukkottai at the age of 13 
e. Answer not known 
Rg;gpukzpa ghujpahh; jdJ ,sikg; gUtj;jpy; ,Ue;Nj ftpij gilf;Fk; Mw;wy; 
cilatuhf ,Ue;jhh;. mtUf;F “ghujp” vd;w gl;lk; toq;fg;gl;lJ. mg;gl;lk; toq;fpa 
kd;dd; ahh;? mg;nghOJ ghujpapd; taJ vd;d? 
a. ,uhkehjGuk; kd;duhy; ghujpapd; gj;jhtJ tajpy; toq;fg;gl;lJ 
b. vl;laGu kd;duhy; ghujpapd; gjpNdhuhtJ tajpy; toq;fg;gl;lJ 
c. rptfq;if kd;duhy; ghujpapd; gd;dpnuz;lhtJ tajpy; toq;fg;gl;lJ 
d. GJf;Nfhl;il kd;duhy; ghujpapd; gjp%d;whtJ tajpy; toq;fg;gl;lJ  
e. tpil njhpatpy;iy 

 
9. Which is the book that stands before Thirukkural with the title “the most translated” 

book? 
a. Dhammapada  b. The Bible    c. Manu-Smriti  
d. Quraan   e. Answer not known 
cyfpy; ve;j E}Yf;F mLj;jgbahf> jpUf;Fws;> mjpfkhd nkhopfspy; 
nkhopngah;f;fg;gl;Ls;sJ? 
a. jk;kgjk;   b. tptpypak;    c. kDjh;k rhj;jpuk; 
d. jpUf;Fh; Md;  e. tpil njhpatpy;iy 
 

10. In which literature does the word “Kudumbam” appears for the first time in Tamil? 
a. Naaladiyaar   b. Iniyavai Naarpathu  c.Thirukkural 
d. Mudhumozhikaanji e. Answer not known 
FLk;gk; vDk; nrhy; Kjy; Kjypy; ,lk; ngw;w E}y;? 
a. ehybahh;   b. ,dpait ehw;gJ   c. jpUf;Fws; 
d. KJnkhopf; fhQ;rp e. tpil njhpatpy;iy 
 

11. Kural:  Anthanar enbor Aravor matru evuiyurkkum senthanmai poondu ozhuga 
  laan. 
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Meaning: Each country has its own rules for righteousness. Whether a Brahmin 
  follows and remembers the vedas or not is contesting version in Tamil 
  Nadu. It is to be considered whether the follows the “Aram” spelled out 
  by Tamil Texts. Hence his hierarchy is decided based on the Tamil Texts. 
a. The kural and the meaning are correct  
b. The Kural and its meaning is incorrect  
c. Kural talks about discipline, where as the explanation talks of indiscipline  
d. Kural talks of Divine Nature; the explanation talks of the discipline of the Discipline 
of the Brahmins 
e. Answer not known 
Fws;:  me;jzh; vd;Nghh; mwNth; kw;W vt;Taph;f;Fk; nre;jz;ik G+z;L xOfyhd; 
nghUs;: xt;nthU ehl;bYk; me;je;j ehl;Lg; gz;ghl;bd;gbNa xOf;ftuk;gpUf;Fk; 
  gpuhkzd; Ntjj;ij kwe;jhdh kwf;ftpy;iyah vd;gJ jkpo;ehl;by; 
  Ma;tpw;Fhpajd;W; mtd; jkpo; xOf;fj;ijf; filg;gpbj;jhdh ,y;iyah 
  vd;gNj mjd; Ma;tpw;Fhpajhk;. MfNt mt;nthOf;fj;jpdhNyNa mtd; 
  cah;Fyj;jhdhthd; vd;gJk;> mJ nfl;ltplj;Jj; jho;e;j   
  Fyj;jhdhfptpLthd; vd;gJk; jkpo; E}y; Kbghk;. 
a. FwSk; nghUSk; nghUj;jKilad 
b. FwSk; nghUSk; nghUj;jkw;wd 
c. Fws; xOf;fj;ijg; NgRfpwJ. nghUs; xOf;fkpd;ikiag; NgRfpwJ 
d. Fws; ,iwtidg; NgRfpwJ> nghUs; me;jzh; xOf;fj;ijg; NgRfpwJ 
e. tpil njhpatpy;iy 
 

12. Who kindled the spirit of patriotism through the play “Kadarin Vetri”? 
a. Pammal K. Sambandam    b. Sankaradas Swamigal  
c. The. Po. Krishnaswamy   d. Thi. Ka. Shanmugam  
e. Answer not known 
‘fjhpd; ntw;wp’ ehlfk; %yk; Njrpa czh;itj; J}z;bath; 
a. gk;ky; rk;ge;jk;  b. rq;fujh]; Rthkpfs;  c. nj.ngh. fpU~;zrhkp 
d. jp.f. rz;Kfk;  e. tpil njhpatpy;iy 
 

13. Assertion 1: Pingalandhai was written by Pingala Munivar. 
Assertion 2: Pingala Munivar is the son of Diwakara Mudhalvar 
a. A1 is right; A2 is wrong    b. A1 is wrong; A2 is right 
c. A1 is wrong; A2 is wrong  d. A1 is right; A2 is right 
e. Answer not known 
$w;W 1: gpq;fyj;ij gpq;fy Kdptuhy; ,aw;wg;gl;lJ 
$w;W 2: jpthfu Kjy;thpd; Gjy;th; gpq;fy Kdpth; 
a. $w;W 1 rhp> $w;W 2 jtW  b. $w;W 1 jtW> $w;W 2 jtW 
c. $w;W 1 jtW> $w;W 2 jtW  d. $w;W 1 rhp> $w;W 2 rhp 
e. tpil njhpatpy;iy 
 

14. How many chapters and sections does Tolkappiyam have? 
a. 2 Chapters and 18 Sections   b. 3 Chapters and 27 Sections  
c. 4 Chapters and 27 Sections  d. 3 Chapters and 18 Sections  
e. Answer not known 
njhy;fhg;gpak; vj;jid mjpfhuq;fisAk; ,ay;fisAk; nfhz;lJ? 
a. 2 mjpfhuq;fisAk; 18 ,ay;fisAk; 
b. 3 mjpfhuq;fisAk; 27 ,ay;fisAk; 
c. 4 mjpfhuq;fisAk; 27 ,ay;fisAk; 
d. 3 mjpfhuq;fisAk; 18 ,ay;GfisAk; 
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e. tpil njhpatpy;iy 
 

15. Name the Chola ruler, who was the first to send an embassy to Chinese Court.  
a. Rajendra – I   b. Rajendra – II   c. Rajaraja – I 
d. Kulottunga – I  e. Answer not known 
rPd mitf;F Kjd;Kjypy; J}Jf;FOit mDg;gpa Nrho kd;ddpd; ngaiuf; 
Fwpg;gpLf. 
a. Kjyhk; uhN[e;jpud;  b. ,uz;lhk; uhN[e;jpud; c. Kjyhk; uh[uh[d; 
d. Kjyhk; FNyhj;Jq;fd;  e. tpil njhpatpy;iy 
 

16. The largest Mangrove forest in Tamil nadu is located in _______ district 
a. Ramanathapuram b. Nagapattinam  c. Cuddalore   
d. Theni   e. Answer not known 
jkpo;ehl;by; mjpfkhf khq;FNuht; fhLfs; fhzg;gLk; khtl;lk; 
a. ,uhkehjGuk;  b. ehfg;gl;bdk;  c. flY}h; 
d. Njdp   e. tpil njhpatpy;iy 
 

17. Which is the health scheme, comprising of Indian medicines and Homeopathy which 
was implemented to control and prevent the Covid-19 pandemic in Tamil Nadu? 
a. State health mission  b. Arokkiyam c. Novel Corona virus programme 
d. Amma clinic  e. Answer not known 
,e;jpa kUe;Jfs; kw;Wk; N`hkpNahgjpia cs;slf;fpa Rfhjhuj; jpl;lkhFk;. ,J 
jkpo;ehl;by; Nfhtpl;-19 njhw;WNehiaf; fl;Lg;gLj;jTk;> jLf;fTk; cjTfpd;wd. 
a. khepy Rfhjhuj; jpl;lk;   b. MNuhf;fpak;  
c. Nehty; fNuhdh itu]; jpl;lk;  d. mk;kh Rfhjhu epiyak; 
e. tpil njhpatpy;iy 
 

18. For tribal society, marriage is a  
a. Sacrament      b. Contract    
c. Both a sacrament and contract  d. Neither a sacrament nor a contract   
e. Answer not known 
goq;Fb r%fj;jpw;Fj; jpUkzk; vd;gJ 
a. Xh; rlq;F     b. Xh; xg;ge;jk;   
c. rlq;F> xg;ge;jk;-,it ,uz;Lk;  d. rlq;F> xg;ge;jk; - ,it ,uz;Lk; ,y;iy 
e. tpil njhpatpy;iy 
 

19. The Maintenance and welfare of parents and senior citizens Act 2007, is being 
implemented in the state with effect from 
a. 26.09.2007   b. 29.09.2007    c. 29.09.2008   
d. 29.09.2009   e. Answer not known 
ngw;Nwhh; kw;Wk; %j;j Fbkf;fSf;fhd guhkhpg;G kw;Wk; eyr;rl;lk; 2007 khepyj;jpy; 
nray;gLj;jg;gl;L> eilKiwf;F te;j ehs; 
a. 26.09.2007   b. 29.09.2007    c. 29.09.2008   
d. 29.09.2009   e. tpil njhpatpy;iy 
 

20. Article 335 of the Indian constitution provides reservation  
a. In Government service for SCs/STs  
b. Of seats in Lok Sabha for SCs/STs  
c. Of seats in Vidhan Sabha for SCs/STs 
d. Of seats in Educational institutions for SCs/STs 
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e. Answer not known 
,e;jpa murpayikg;gpd; 335tJ gphpT ,l xJf;fPl;il vjw;F toq;FfpwJ? 
a. gl;bay; rhjpapdh;/goq;Fbapdh;f;F muR gzpfspy;  
b. gl;bay; rhjpapdh;/goq;Fbapdh;f;F kf;fsitapy; gpujpepjpj;Jtk; 
c. gl;bay; rhjpapdh;/goq;Fbapdh;f;F rl;l kd;wj;jpy; gpujpepjpj;Jtk; 
d. gl;bay; rhjpapdh;/goq;Fbapdh;f;F fy;tp epWtdq;fspy; 
e. tpil njhpatpy;iy 
 

21. Largest are of land is used to cultivate ________ crop in TN.  
a. Paddy   b. Sugarcane   c. Groundnut   
d. Coconut    e. Answer not known 
jkpo;ehl;by; ________ gaph; cw;gj;jpf;fhf mjpfg; gug;gsT epyk; gad;gLj;jg;gLfpwJ. 
a. ney;   b. fUk;G   c. epyf;fliy 
d. Njq;fha;   e. tpil njhpatpy;iy 
 

22. In Tamilnadu which one of the following Industry is not a Union Govt. undertaking? 
a. Hindustan photo films  b. Neyveli Lignite Corporation 
c. Salem steel plant  d. Tamilnadu Industrial Investment Corporation Ltd., 
e. Answer not known 
jkpo;ehl;by; gpd;tUk; njhopy;fspy; xd;W kj;jpa murhy; Nkw;nfhs;sg;gltpy;iy 
a. `pe;J];jhd; Nghl;Nlhgpypk;];  b. nea;Ntyp epyf;fhp fofk; 
c. Nryk; ,Uk;G v/F Miy  d. jkpo;ehL njhopy; KjyPl;Lf; fofk; 
e. tpil njhpatpy;iy 
 

23. South Indian liberal foundation was created to promote 
a. The political interest of non-Brahmins  b. The economic interests 

c. The social status      d. None of the above 
e. Answer not known 
njd;dpe;jpa tpLjiy ,af;fk; cUthf;fg;gl;l __________ Cf;Ftpg;gjw;fhf.  
a. gpuhkzh; my;yhjth;fspd; murpay; eyid b. nghUshjhu eyid 
c. r%f me;j];jpid    d. vJTk; my;y 
e. tpil njhpatpy;iy 
 

24. Mark the institutions established for the educational reformation by vallalar 
1. Sanmarga bothini     
2. Samarasa vedapadasalai 
3. Jeevakarunya padasalai    
4. Samarasa kalvi Nilayam 
a. 2,3  b. 3,4  c. 1,2  d. 3,1  e. Answer not known 
fy;tp rPh;jpUj;jj;jpw;fhf ts;syhuhy; Jtq;fg;gl;l epWtdq;fis Fwpg;gpLf. 
1. rd;khh;f;f Nghjpdp 
2. rkurNtj ghlrhiy 
3. [PtfhUz;a ghlrhiy 
4. rkur fy;tp epiyak; 
a. 2,3  b. 3,4  c. 1,2  d. 3,1  e. tpil njhpatpy;iy 
 

25. __________ is the reason why students studying class III could not read class I books 
a. Quality of Education often was not up to the mark 
b. Increase in attendance  
c. Parents are not Educated  
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d. Annual status of Education report  
e. Answer not known 
_______ vd;gJ jhd; %d;whk; tFg;G gbf;Fk; khzth;fshy; Kjyhk; tFg;G Gj;jfj;ij 
gbf;f Kbahjjw;F fhuzkhFk;. 
a. kjpg;ngz; vLg;gjw;F Vw;w mstpy; ngUk;ghYk; fy;tpapd; juk; ,Ug;gJ ,y;iy 
b. tUif mjpfhpg;G 
c. ngw;Nwhh;fs; gbj;jth;fshf ,y;iy 
d. fy;tp mwpf;ifapd; Mz;L epiy  
e. tpil njhpatpy;iy 
   

26. If the curved surface area of a right circular cylinder is 704 sq.cm and height is 8 cm, 
find the volume of the cylinder. 
a. 5048 cm3   b. 4928 cm3   c. 5442 cm3  
d. 4864 cm3   e. Answer not known 
xU Neh;tl;l cUisapd; tisgug;G 704 r.nr.kP kw;Wk; mjd; cauk; 8 nr.kP vdpy; 
mt;TUisapd; fd msit fhz;f. 
a. 5048 cm3   b. 4928 cm3   c. 5442 cm3  
d. 4864 cm3   e. tpil njhpatpy;iy 
 

27. Highest common factor of 25 b c4 d3, 35b2 c5 and 45c3 d is  
a. 1575b2 c5 d3 b. 45bcd c. 25c3  d. 5c3  e. Answer not known 
25 b c4 d3, 35b2 c5> 45c3 d ,tw;wpd; kPg;ngU nghJf; fhuzp fhz;f. 
a. 1575b2 c5 d3 b. 45bcd c. 25c3  d. 5c3  e. tpil njhpatpy;iy 
 

28. An alloy contains 15% copper. What quantity of alloy is required to get 600 gram of 
copper 
a. 2000 grams  b. 4000 grams   c. 6000 grams   
d. 8000 grams  e. Answer not known 
xU cNyhf fyit 15% jhkpuj;ij nfhz;Ls;sJ. 600 fpuhk; jhkpuj;ij ngw ve;j 
msT cNyhf fyit ngwg;gLfpwJ 
a. 2000 fpuhk;   b. 4000 fpuhk;   c. 6000 fpuhk;   
d. 8000 fpuhk;   e. tpil njhpatpy;iy 
 

29. Which of the given letters is exactly midway between only letter following between C 
and 5  
AB7CD9ZY*P2M©KS3↑5NT@ 
a. K  b. M  c. P  d. Y  e. Answer not known 
gpd;tUtdtw;Ws; rhpahf C kw;Wk; 5 w;F eLNt tUk; vOj;ij fhz;f 
AB7CD9ZY*P2M©KS3↑5NT@ 
a. K  b. M  c. P  d. Y   e. tpil njhpatpy;iy 
 

30. A square carpet, covers an area of 1024 m2 of a big hall. If it is placed, in the middle of 
the hall, what is the length of a side of carpet? 
a. 22 m b. 32 m  c. 38 m  d. 42 m e. Answer not known 
xU rJuf; fk;gskhdJ> xU nghpa kz;lgj;jpd; ikaj;jpy; 1024m2 gug;gsit 
epug;GkhW itf;fg;gLfpwJ> vdpy; me;jf; fk;gsj;jpDila gf;f ePsk; vd;d? 
a. 22 m b. 32 m  c. 38 m  d. 42 m  e. tpil njhpatpy;iy 
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31. Two taps can fill a tank in 30 minutes and 40 minutes. Another tap can empty it in 24 
minutes. If the tank is empty and all the three taps are kept open, in how much time the 
tank will be filled? 
a. 60 minutes   b. 46 minutes   c. 94 minutes   
d. 24 minutes   e. Answer not known 
xU njhl;bia ,U Foha;fs; jdpj;jdpNa KiwNa 30 epkplq;fs;> 40 epkplq;fspy;> 
epug;Gfpd;wJ. kw;nwhU Foha; ePh; epuk;gpa njhl;bia 24 epkplq;fspy; fhyp nra;Ak;. 
njhl;b fhypahf ,Ue;J ,k;%d;W Foha;FSk; xNu rkaj;jpy; jpwe;J tplg;gl;lhy;> 
mj;njhl;b vj;jid epkplq;fspy; epuk;Gk;? 
a. 60 epkplq;fs;  b. 46 epkplq;fs;   c. 94 epkplq;fs;  
d. 24 epkplq;fs;   e. tpil njhpatpy;iy 
 

32. The total surface area of a cylinder whose radius is 
1

3
of its height is  

a. 
2

9 h

8


sq. units  b. 24π h2 sq. units  c. 

2
8 h

9


sq. units  

d. 
2

56 h

9


sq. units  e. Answer not known 

Xh; cUisapd; Muk; mjd; cauj;jpy; %d;wpy; xU gq;F vdpy; mjd; 
nkhj;jg;Gwg;gug;G fhz;f. 

a. 
2

9 h

8


r.m   b. 24π h2 r.m   c. 

2
8 h

9


r.m 

d. 
2

56 h

9


r.m   e. tpil njhpatpy;iy 

 
33. A certain sum at a rate of compound interest 4% for 2 years becomes Rs. 2028 then find 

the principal  
a. Rs. 1578   b. Rs. 1785   c. Rs. 1875   
d. Rs. 1800   e. Answer not known 
Xh; mryhdJ 2 Mz;Lfspy;> Mz;Lf;F 4% $l;L tl;bapy; &.2028 Mf MfpwJ vdpy; 
mry; vt;tsT? 
a. Rs. 1578   b. Rs. 1785   c. Rs. 1875   
d. Rs. 1800   e. tpil njhpatpy;iy 
 

34. Riya bought Rs. 15,000 from a bank to buy a car at 10% simple interest. If she paid Rs. 
9,000 as interest while clearing the loan, find the time for which the loan was given  
a. 3 years    b. 4 years    c. 6 years    
d. 5 years    e. Answer not known 
hpah vd;gth; kfpOe;J thq;Ftjw;fhf &.15>000 I 10% jdptl;b vd;w tPjj;jpy; 
fldhfg; ngw;whh;. Mth; &.9>000 If; flid Kbf;Fk; jUthapy;> tl;bahfr; nrYj;jpdh;. 
vdpy;> flidg; gad;gLj;jpa fhyj;ijf; fzf;fpLf. 
a. 3 tUlq;fs;  b. 4 tUlq;fs;  c. 6 tUlq;fs; 
d. 5 tUlq;fs;  e. tpil njhpatpy;iy 
 

35. The cost of uniforms for twelve students is Rs. 3,000. Then the number of students can 
get uniform for Rs.1,250 is  
a. 6 students    b. 8 students    c. 5 students    
d. 7 students   e. Answer not known  
12 khzth;fSf;Fr; rPUil toq;f RS. 3>000 nrythFk; vdpy; RS.1>250f;F ngWk; 
khzth;fspd; vz;zpf;if 
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a. 6 khzth;fs;  b. 8 khzth;fs;  c. 5 khzth;fs; 
d. 7 khzth;fs;  e. tpil njhpatpy;iy 
 

36. Find the LCM of am+1, am+2, am+3 
a. am+3  b. am+6  c. am+2  d. am+1  e. Answer not known 
am+1, am+2, am+3 ,tw;wpd; kPr;rpW nghJ klq;F fhz;f. 
a. am+3  b. am+6  c. am+2  d. am+1  e. tpil njhpatpy;iy 
 

37. Find the least common multiple (LCM) of the given expressions  
9a3 b2 c2, 12a2 b2 c2 
a. 36 a2 b3 c   b. 36 a3 b2 c2   c. 36 a3 b2 c   
d. 36 a2 b3 c2   e. Answer not known 
gpd;tUtdtw;wpw;F kPr;rPW nghJ klq;F (kP.ngh.k) fhz;f. 
9a3 b2 c2, 12a2 b2 c2 
a. 36 a2 b3 c   b. 36 a3 b2 c2   c. 36 a3 b2 c   
d. 36 a2 b3 c2   e. tpil njhpatpy;iy 
 

38. Find the next term of the sequence 
3 1 1 1

, , ,
16 8 12 18

________ 

a. 
1

24
  b. 

1

27
  c. 

2

3
  d. 

2

81
  e. Answer not known  

3 1 1 1
, , ,

16 8 12 18
 vd;w njhlh; thpirapy; mLj;j cWg;G vd;d? 

a. 
1

24
  b. 

1

27
  c. 

2

3
  d. 

2

81
  e. tpil njhpatpy;iy 

 
39. Find the missing letters 

A, B, B, D, C, F, D, H, E, ?, ? 
a. E, F   b. F, G  c. F, 1  d. J, F  e. Answer not known  
fPNo nfhLf;fg;gl;Ls;s Mq;fpy vOj;Jfspy; mLj;j ,uz;L vOj;Jf;fis fhz;f. 
A, B, B, D, C, F, D, H, E, ?, ? 
a. E, F   b. F, G  c. F, 1  d. J, F   e. tpil njhpatpy;iy 
  

40. What us the time 100 hours after 7 a.m? 
a. 7 : 00 a.m    b. 11 : 00 p.m   c. 11 : 00 a.m 

d. 7 : 00 p.m   e. Answer not known 
Kw;gfy; 7 kzpf;F 100 kzp Neuj;jpw;Fg; gpwF Neuk; vd;d? 
a. Kw;gfy; 7 kzp  b. gpw;gfy; 11 kzp  c. Kw;gfy; 11 kzp 
d. gpw;gfy; 7 kzp  e. tpil njhpatpy;iy 
 

41. The capacity of a water tank of dimensions 10 M × 5M × 1.5 M ______ 
a. 75 litres   b. 750 litres    c. 7500 litres   
d. 75000 litres   e. Answer not known 
10 kP × 5 kP × 1.5 kP msTs;s xU ePh;njhl;bapd; nfhs;ssT 
a. 75 ypl;lh;   b. 750 ypl;lh;   c. 7500 ypl;lh; 
d. 75000 ypl;lh;  e. tpil njhpatpy;iy 
 

42. Two numbers are there in the ratio 3:5. If the sum of the numbers is 144 then what is the 
larger number? 
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a. 48  b. 54  c. 72  d. 90   e. Answer not known 
,U vz;fspd; tpfpjq;fs; 3 : 5 kw;Wk; mtw;wpd; $Ljy; 144 vdpy; nghpa vz;zpd; 
kjpg;G fhz;f.  
a. 48  b. 54  c. 72  d. 90   e. tpil njhpatpy;iy 
 

43. If 9 times 9th term is equal to 15 times 15th term in an arithmetic progression, then find 
the 24th term. 
a. 1    b. -1     c. 0  

d. Cannot be found   e. Answer not known 
xU $l;Lj; njhlh; thpirapy; xd;gjhtJ cWg;gpd; xd;gjhk; klq;F> gjpide;jhtJ 
cWg;gpd; gjpide;J klq;fpw;F rkk; vdpy; 24-tJ cWg;igf; fhz;f. 
a. 1    b. -1    c. 0   
d. fzf;fpl ,ayhJ e. tpil njhpatpy;iy 
 

44. The difference between compound interest and simple interest for Rs.5000, at the rate of 
interest 4% for 2 years is  
a. Rs. 8 b. Rs. 10  c. Rs. 6 d. Rs. 12  e. Answer not known 
mry; RS. 5>000 ,uz;L Mz;LfSf;fhd tl;b tPjk; 4% vdpy; jdptl;bf;Fk; 
$l;Ltl;bf;Fk; cs;s tpj;jpahrj;ijf; fhz;f. 
a. Rs. 8 b. Rs. 10  c. Rs. 6 d. Rs. 12  e. tpil njhpatpy;iy 
 

45. The simple interest for the principal of Rs. 1000 for one year is Rs. 100. Find the rate of 
interest. 
a. 5%  b. 10% c .15%  d. 20%  e. Answer not known 
Rs. 1000 mrYf;F Xuhz;L Rs. 100 I jdptl;bahf nfhLj;jhy; mjd; tl;b tpfpjk; 
vd;d? 
a. 5%  b. 10% c .15%  d. 20%  e. tpil njhpatpy;iy 
 

46. If x : 24 :: 3 : 8 then the valuer of x is  
a. 1  b. 8  c. 9  d. 3  e. Answer not known 
x : 24 :: 3 : 8 - vd;gjpy; x d; kjpg;G 
a. 1  b. 8  c. 9  d. 3  e. tpil njhpatpy;iy 
 

47. If, HCF of given two numbers 96 and 404 is 4, then LCM of given two numbers is 
________ 
a. 384  b. 9696 c. 1616  d. 38, 784 e. Answer not known 
nfhLf;fg;gl;l ,U vz;fshf 96 kw;Wk; 404-d; kP.ngh.t – 4 vdpy;> ,t;tpU vz;fspd; 
kP.ngh.k-d; kjpg;G ________ 
a. 384  b. 9696 c. 1616  d. 38, 784 e. tpil njhpatpy;iy 
 

48. Find the Greatest Common Divisor for 21x2 y, 35xy2. 
a. 7 xy  b. 105x2 y2 c. 7x2 y2 d. 105 xy  e. Answer not known 
21x2 y, 35xy2 vd;w vz;fspd; kPg;ngU nghJtFj;jpia fhz;f. 
a. 7 xy  b. 105x2 y2 c. 7x2 y2 d. 105 xy  e. tpil njhpatpy;iy 
 

49. Simplify: 
2 3 1 3 1 2

3 7 6 2 14 5

− 
 −  +  
 

 

a. 
75

140
−  b. 

11

28
−  c. 

105

140
  d. 

1

4
−   e. Answer not known 
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RUf;Ff: 
2 3 1 3 1 2

3 7 6 2 14 5

− 
 −  +  
 

 

a. 
75

140
−  b. 

11

28
−  c. 

105

140
  d. 

1

4
−   e. tpil njhpatpy;iy 

 
50. The number of literate persons in a city increased from 5 lakhs to 8 lakhs in 5 years. 

What is the percentage of increase? 
a. 60%  b. 40%  c. 80%  d. 50%  e. Answer not known 
xU efuj;jpy; fy;tpawpT ngw;wth;fspd; vz;zpf;if 5 Mz;Lfspy; 5 ,yl;rj;jpypUe;J 
8 ,yl;rkhf mjpfhpj;jJ vdpy; mjpfhpg;gpd; rjtPjk; vd;d? 
a. 60%  b. 40%  c. 80%  d. 50%  e. tpil njhpatpy;iy 
 

51. Rote learning is a 
a. Passive Learning    b. Active Learning    
c. Both (A) and (B) are incorrect  d. Both (A) and (B) are correct   
e. Answer not known 
FUl;L kdg;ghlk; (kidtopf; fw;wy;) vd;gJ 
a. nrayhw;w fw;wy;   b. nray;top fw;wy;  c. A kw;Wk; B ,uz;Lk; rhp 
d. A kw;Wk; B ,uz;Lk; rhp  e. tpil njhpatpy;iy 
 

52. 1. Selection  
2. Training   
3. Interview   
4. Appointment   
5. Advertisement  
6. Application 
Arrange the above words in a meaningful sequence 
a. 5, 6, 3, 1, 4, 2  b. 5, 3, 1, 6, 4, 2  c. 5, 6, 1, 3, 4, 2 
d. 5, 6, 3, 1, 2, 4  e. Answer not known 
1. Njh;e;njLj;jy; 
2. gapw;rp 
3. Nehf;fhzy; 
4. epakdk; 
5. tpsk;guk; 
6. tpz;zg;gk; 
NkNy Fwpg;gpl;Ls;s nrhw;fis mh;j;jKs;s thpirapy; thpirg;gLj;jTk;. 
a. 5, 6, 3, 1, 4, 2  b. 5, 3, 1, 6, 4, 2  c. 5, 6, 1, 3, 4, 2 
d. 5, 6, 3, 1, 2, 4  e. tpil njhpatpy;iy 
 

53. Stepwise thinking with a purpose or goal in mind is defined as  
a. Concept formation b. Reasoning   c. Intelligence  
d. Creativity    e. Answer not known 
xU Nehf;fk; my;yJ ,yf;Fld; kdjpy; gbg;gbahfr; rpe;jpj;jiy tiuaWf;fg; 
gad;gLj;Jk; nrhy;  
a. fUj;J cUthf;fk; b. gFj;jwpjy;  c. Ez;zwpT 
d. gilg;ghw;wpy;  e. tpil njhpatpy;iy 
 

54. The ‘Operon model’ for Gene regulation was proposed by  
a. Messelson and Stahl b. Watson and Crick  c. Jacob and Monod  
d. Avery and McCleoid  e. Answer not known 
kugZ ntspg;ghl;il newpg;gLj;JjYf;fhd ‘xg;gud; khjphpia’ Kd;nkhope;jth; 
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a. kpry;rd; kw;Wk; ];lhy;  b. thl;rd; kw;Wk; fphpf;  
c. N[f;fg; kw;Wk; NkhdhL  d. Vthp kw;Wk; nkf;ypaha;L 
e. tpil njhpatpy;iy 
 

55. Match the following: 
 List I    List II 
a. Hydrosphere  1. Lies above 50 km which coincides with the thermosphere 
b. Lithosphere   2. Earth’s crust and a lower portion of the mantle 
c. Biosphere   3. Earth’s water which exists in both fresh and saline form 
d. Ionosphere  4. Lithosphere, hydrosphere and atmosphere in which living 
    organism live 
 A B C D 
a.  3 2 4 1 
b.  1 3 4 2 
c.  4 1 3 2 
d.  2 4 1 3 
nghUj;Jf: 
thpir I     thpir II 
a. ePh; kz;lyk;  1. ,J ntg;g kz;lyj;jw;F 50 fp.kP-Nky; mike;Js;sJ 
b. epy kz;lyk;  2. Gtpapd; NkNyhL kw;Wk; fPo;g;gFjp 
c. caph; kz;lyk;  3. Gtpapd; ePh;> ed;dPh; kw;Wk; cg;G ePuhf cs;sJ 
d. madp kz;lyk;  4. ePh;kz;lyk;> epykz;lyk; kw;Wk; tspkz;lyj;jpd; 

 caphpdf; $Wfs; 
A B C D 

a.  3 2 4 1 
b.  1 3 4 2 
c.  4 1 3 2 
d.  2 4 1 3 
e. tpil njhpatpy;iy 
 

56. The term ‘SCIENCE’ orginated from 
a. Greek   b. Latin    c. Old English    
d. Old French  e. Answer not known 
‘mwptpay;’ nrhy;ypd; Njhw;Wtha; nkhop 
a. fpNuf;fk;   b. yj;jPd;   c. goikahd Mq;fpyk; 
d. goikahd gpnuQ;R e. tpil njhpatpy;iy 
 

57. Rote learning is: 
i. Used to memorize formulae in maths and science 
ii Memorization technique based on repetition 
iii Does not require understanting of stored data 
a.  i only   b. ii only   c. i and ii only   
d. i, ii and iii   e. Answer not known 
nghUs; czuhky; fw;wy; 
i. fzpjk; kw;Wk; mwptpaypy; #j;jpuq;fis kdg;ghlk; nra;ag;gad;gLfpwJ. 
ii. jpUk;gj; jpUk;g kdg;ghlk; nra;Ak; Kiw 
iii. Nrkpf;fg;gl;l juitg; Ghpe;Jnfhs;tJ Njitapy;iy 
a. i kl;Lk;   b. ii kl;Lk;   c. i kw;Wk; ii 
d. i>ii> kw;Wk; iii  e. tpil njhpatpy;iy 
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58. The average age of 10 members in the family is 21 years and due to the death of one 

family member the average age us reduced by 2 months. The age of the member who 
died is? 
a. 20 years 10 months b. 20 1/3 years   c. 22 years  
d. 19 1/3 years   e. Answer not known 
xU FLk;gj;jpy; 10 cWg;gpdh;fpd; ruhrhp taJ 21 Mz;Lfs;. xU FLk;g cWg;gpdhpd; 
,wg;Gf; fhuzkhf ruhrhp taJ 2 khjq;fs; Fiwf;fg;gLfpwJ. ,we;j cWg;gpdhpd; 
taJ vd;d? 
a. 20 Mz;Lfs; 10 khjq;fs;  b. 20 1/3 Mz;Lfs; 
c. 22 Mz;Lfs;    d. 19 1/3 Mz;Lfs;     
e. tpil njhpatpy;iy 
 

59. Birju Maharaj was conferred with Sangeet Natak Akademi Award in the year 
__________ and Padma Vibhushan in __________  
a. 1958 and 1972  b. 1960 and 1978  c. 1962 and 1980  
d. 1964 and 1986   e. Answer not known 
gph;[P kfhuh[hTf;F __________ Mk; Mz;L rq;fPj ehlf tpUJk; kw;Wk; _________ 
Mz;L gj;k tpA+~d; tpUJk; toq;fg;gl;lJ. 
a. 1958 kw;Wk; 1972  b. 1960 kw;Wk; 1978  c. 1962 kw;Wk; 1980  
d. 1964 kw;Wk; 1986  e. tpil njhpatpy;iy 
 

60. Which is not a characteristic feature of party system in India? 
a. Personality cult    
b. Presence of an effective, strong and organized opposition party 
c. Faction and defections 
d. Regional parties  
e. Answer not known 
vJ ,e;jpahtpy; cs;s fl;rp mikg;gpd; rpwg;gpay;ghd mk;rk; my;y? 
a. MSik topghl;L Kiw 
b. gaDs;s> tYthd kw;Wk; xOq;fikf;fg;gl;l vjph; fl;rp 

c. cl; fl;rpg;G+ry; kw;Wk; fl;rpj;jhty;  
d. gpuhe;jpaf; fl;rpfs; 
e. tpil njhpatpy;iy 
 

61. Which of the following molecule(s) causes food to cook in a microwave oven? 
a. CO2  b. OCS c. H2 O  d. NH3 e. Answer not known 
gpd;tUk; %yf;$Wfspy; vJ Ez;ziy mLg;gpy; (microwave oven) czit rikf;ff; 
fhuzkhfpwJ? 
a. CO2  b. OCS c. H2 O  d. NH3 e. tpil njhpatpy;iy 
 

62. The Bot project designed by the researchers at the IIT, Ropar, to deliver medicine and 
food to Covid – 19 patients in isolation ward is  
a. Covid Bot    b. Ward Bot    c. Food Bot    
d. Medico Bot  e. Answer not known 
jdpikg;gLj;jg;gl;l thh;Lfspy; cs;s Nfhtpl; - 19 NehahspfSf;F kUe;J kw;Wk; 
czit toq;Ftjw;fhf Nuhghpy; cs;s ,e;jpa njhopy;El;g fofj;jpd; (IIb) 
Muha;r;rpahsh;fshy; tbtikf;fg;gl;l ghl; jpl;lj;jpd; ngah; vd;d? 
a. Nfhtpl; ghl;  b. thh;Lghl;   c. Gl;ghl; 
d. nkbNfhghl;  e. tpil njhpatpy;iy 
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63. ‘Museum on wheels’ was introduced in India in the year 
a. 1962 b. 1965 c. 1967  d. 1969 e. Answer not known 
,e;jpahtpy; ‘kpA+rpak; Md; tPy;];’ (elkhLk; mUq;fhl;rpafk;) mwpKfg;gLj;jg;gl;l 
Mz;L 
a. 1962 b. 1965 c. 1967  d. 1969 e. tpil njhpatpy;iy 
 

64. A viral vector vaccine produced by serum Institute of India, to fight against Covid – 19 
infection is  
a. Covaxin    b. Covishield   c. Corbevax   
d. Sputnik – v  e. Answer not known 
,e;jpa rPuk; epWtdj;jhy; jahhpf;fg;gl;l Nfhtpl; - 19 njhw;Wf;F vjpuhfr; nray;;gLk; 
xU itu]; jLg;G+rp vJ. 
a. Nfhthf;rpd;  b. Nfhtp~Py;L  c. Nfhh;g;Ntf;]; 

d. ];Gl;epf; - v  e. tpil njhpatpy;iy 
 

65. Prime Minister of India on 17.09.202 released eight Cheetahs brought from Namibia, 
Africa; which went extinct in 1952 in India; was released in the ___________ 
a. Kuno National Park   b. Madav National Park  
c. Van Vihar National Park  d. Satpura National Park  
e. Answer not known  
,e;jpahtpy; 1952fspy; mope;JNghd> Mg;gphpf;f ehlhd ekPgpahtpy; ,Ue;J 
nfhz;Ltug;gl;l vl;L rpWj;ijfisg; ghujg; gpujkh; 17.09.2022 md;W ________ y; 
tpLj;jhh;. 
a. FNdh Njrpag; G+q;fhtpy  b. khjt; Njrpag; G+q;fhtpy; 
c. thd; tpfhh; Njrpag; G+q;fh  d. rj;Guh Njrpag; G+q;fhtpy; 
e. tpil njhpatpy;iy 
 

66. National Waterway 1(NW1) connects the cities of ________ and ______ 
a. Allahabad – Haldia b. Dhubri – Sadiya   c. Muktiyala – Vijayawada 
d. Chennai – Puducherry  e. Answer not known 
gpd;tUtdtw;wpy; Njrpa ePh;top 1 (NW1) MdJ __________ efuq;fis ,izf;fpwJ. 
a. myfhghj; - `y;bah b. Jg;hp – rhjpah   c. Kj;jpahyh – tp[athlh 
d. nrd;id – GJr;Nrhp e. tpil njhpatpy;iy 
 

67. In 2011, ONGC discovered India’s first shale gas reserve in which of the following 
states? 
a. Assam    b. Gujarath    c. West Bengal   
d. Maharashtra  e. Answer not known 
2011-y; vz;nza; ,aw;if thA epWtdk; ,e;jpahtpy; Kjy; fspg;ghiw thA ,Ug;G 
gpd;tUk; khepyq;fspy; ve;j khepyj;jpy; fz;Lgpbf;fg;gl;lJ? 
a. m];]hk;   b. F[uhj;   c. Nkw;F tq;fhsk; 
d. k`huh~;buh  e. tpil njhpatpy;iy 
 

68. The year in which wild life protection act was enacted in India. 
a. 1975 b. 1872 c. 1972  d. 1982  e. Answer not known 
,e;jpahtpy; tdtpyq;F ghJfhg;Gr; rl;lk; ,aw;wg;gl;l Mz;L 
a. 1975 b. 1872 c. 1972  d. 1982  e. tpil njhpatpy;iy 
 

69. ____________ is the largest salt water lake in India. 
a. Renuka lake  b. Sambhar lake  c. Pulicat lake   
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d. Chilka lake  e. Answer not known 
,e;jpahtpd; kpfg;nghpa cg;G Vhp 
a. NuZfh Vhp  b. rhk;ghp Vhp   c. Gypfhl; Vhp 
d. rpy;fh Vhp   e. tpil njhpatpy;iy 
 

70. The circulation of upper air jet streams in the  
a. Troposphere  b. Stratosphere  c. Mesosphere  
d. Thermosphere  e. Answer not known 
NkyLf;F fhw;W Row;r;rpahd n[l; Xl;lk; fhzg;glf;$ba mLf;F 
a. bNuhNgh];gpah;  b. ];Nul;Nlh];gpah;  c. kPNrh];gpah; 
d. njh;Nkh];gpah;  e. tpil njhpatpy;iy 
 

71. Under whose guidance the sites of Mohenjodaro and Harappa were excavated? 
a. Mortimer Wheeler  b. Sir. J. Marshall  c. Alexander Cunningham  
d. S.R. Rao   e. Answer not known 
ahUila topfhl;Ljypd; gb nkhfQ;rjhNuh kw;Wk; `ug;ghtpy; mfo;thuha;r;rp 
nra;ag;gl;lJ. 
a. khh;bkh; tPyh;   b. rh;.N[. khh;~y;  c. mnyf;rhz;lh; fd;dpq;`hk; 
d. v];.Mh;. uht;  e. tpil njhpatpy;iy 
 

72. Which of the following is not correct about ‘Directive principles of State Policy’? 
a. Enforceable through law courts  
b. Promotes cottage industries and organization of Village Panchayats 
c. Free and compulsory education for children below 14 years of age  
d. Betterment of scheduled castes and tribes  
e. Answer not known 
‘murpd; topfhl;L newpKiwf; nfhs;iffs;’ Fwpj;j $w;Wf;fspy; jtwhd $w;W vJ? 
a. ePjpkd;wq;fs; top eilKiwg;gLj;jyhk; 
b. fpuhkg; gQ;rhaj;J mikg;igAk; Fbirj; njhopy;fisAk; Cf;Ftpf;fpwJ 
c. gjpdhd;F tajpw;Ff; fPo; cs;s rpWth;fSf;F fl;lha ,ytrf; fy;tp 
d. gl;bay; ,dj;jth; kw;Wk; goq;Fbapdh; Nkk;ghL 
e. tpil njhpatpy;iy 
 

73. The fundamental principles of Buddhism as given by the Four Noble Truths does not 
include which of the following? 
a. Suffering    b. Cause of Suffering   c. Cessation of Sorrow 
d. Immortality of Soul e. Answer not known 
ehd;F cd;dj cz;ikfshy; toq;fg;gl;l ngsj;j kjj;jpd; mbg;gilf; Nfhl;ghLfspy; 
NruhjJ vJ? 
a. Jd;gk;   b. Jd;gj;jpw;fhd fhuzk;  c. Jf;fj;jpd; KbT 
d. ,wg;gw;w Md;kh  e. tpil njhpatpy;iy 
 

74. The Vesara style of architecture is also known as  
a. The Chola style   b. The Pallave style   c. The Chalukya style  
d. The Pandya style   e. Answer not known 
Ntru ghzpf; fl;blf;fiy ,g;gbAk; miof;fg;gLfpwJ. 
a. Nrhoh; ghzp  b. gy;yth;; ghzp  c. rhSf;fpah; ghzp 
d. ghz;bah; ghzp  e. tpil njhpatpy;iy 
 

75. The Central Institute of Indian language is located at  
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a. New Delhi   b. Mumbai   c. Kolkatta    
d. Bangalore   e. Answer not known 
,e;jpa nkhopf;fSf;fhd kj;jpa epWtdk; vq;F mike;Js;sJ? 
a. nly;yp   b. Kk;ig   c. nfhy;fj;jh 
d. ngq;f@h;   e. tpil njhpatpy;iy 
 

76. Who wrote Tarikh-i-Sher Shah? 
a. Abul Fazal   b. Hasan Nizami  c. Abbas Khan Sarwani  
d. Nizamuddin Ahmad e. Answer not known 
jhhpf;-,-n~h;~h vd;w E}ypid vOjpath; ahh;? 
a. mGy; ghry;  b. `rd; eprhkp  c. mg;gh]; fhd; ~h;thdp 
d. ep]hKjPd; mfkJ e. tpil njhpatpy;iy 
  

77. Which of the following statements are true about Iltumish? 
i He was a slave of Qutubuddin – Aibek  
ii He wstablished zil-i-Illahi 
iii He built the main portions of Qutub Minar 
a. i only    b. i and ii only   c. i and iii only   
d. ii and iii only  e. Answer not known 
fPo;fhz;gtw;wpy; ,y;Jkpi~g; gw;wpf; $Wk; rhpahd $w;Wfs; vit? 
i. ,th; Fj;GjPd; Igf;fpd; mbikahf ,Ue;jhh; 
ii. ]py;-,-,yh`piaj; Njhw;Wtpj;jhh; 
iii. FJg;kpdhhpd; Kf;fpa gFjpfisf; fl;bdhh; 
a. i kl;Lk;   b. i kw;Wk; ii   c. i kw;Wk; iii 
d. ii kw;Wk; iii   e. tpil njhpatpy;iy 
 

78. Which among the following scholars was the first to discover the traces of the 
Harappan Civilization? 
a. Martimer Wheeler  b. R. D. Banerjee  c. A. Cunnihgham 
d. Daya Ram Sahni  e. Answer not known 
`ug;gd; ehfhpfj;jpd; jlaq;fis Kjypy; fz;lwpe;j mwpQh; ahh;? 
a. khh;bkh; tPyh;  b. Mh;.b. ghdh;[p  c. m. fd;dpq;`hk; 
d. jha uhk; rh`;dp  e. tpil njhpatpy;iy 
 

79. The Lok Ayuktha presents its Annual Report to  
a. The Governor   b. The Chief Minister c. The Parliament  
d. The Corporation   e. Answer not known 
Nyhf; MAf;jh jdJ tUlhe;jpu mwpf;ifia __________ rkh;g;gpf;fpwJ. 
a. MSeh;   b. Kjyikr;rh;  c. ghuhSkd;wk; 
d. khefuhl;rp   e. tpil njhpatpy;iy 
 

80. Choose the right match 
1. Article 226  -  High Court 
2. Article 32   -  Supreme Court 
3. Article 40  -  Fundamental Right 
4. Article 51A  -  Directive principles of State policy 
a. 1 and 3 only   b. 1 and 2 only   c. 2 and 3 only  
d. 3 and 4 only   e. Answer not known 
rhpahd nghUj;jj;ijj; Njh;T nra;f. 
1. rl;lg;gphpT 226 - cah;ePjpkd;wk; 
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2. rl;lg;gphpT 32 - cr;rePjpkd;wk; 
3. rl;lg;gphpT 40 - mbg;gil chpik 
4. rl;lg;ghpT 51A - muR newpKiwf; Nfhl;ghL 
a. 1 kw;Wk; 3 kl;Lk ; b. 1 kw;Wk; 2 kl;Lk; c. 2 kw;Wk; 3 kl;Lk; 
d. 3 kw;Wk; 4 kl;Lk; e. tpil njhpatpy;iy 
 

81. Which of the following is True about Rajamannar Committee? 
1. Rajamannar committee was constituted in the year 1968 
2. The Committee submitted it’s report in 1971 
3. The committee was constituted to study the centre-state relation 
a. 1 only  b. 2 only  c. 2, 3 only  d. 1, 2 and 3   e. Answer not known 
,uh[kd;dh; FOitg; gw;wpa fPo;f;fhZk; nrhw;nwhlhpy; vJ rhpahdJ? 
1. ,uh[kd;dh; FOitg; gw;wpa fPo;f;fhZk; nrhw;nwhlhpy; vJ rhpahdJ? 
2. ,f;FO 1971-y; ghpe;Jiufis mwpj;jJ 
3. ,f;FO xd;wpa khepy cwTfis Muha;tjw;fhf mikf;fg;gl;lJ. 
a. 1 kl;Lk;;    b. 2 kl;Lk;   c. 2> 3 kl;Lk; 
d. 1> 2 kw;Wk; 3 Mfpait  e. tpil njhpatpy;iy 
 

82. Arrange the following organisations in ascending order 
1. Zilla parished   2. Village Panchayat  3. Gram Sabha 
4. Panchayat Samiti 
a. 1, 2, 3, 4   b. 3, 2, 4, 1   c. 3, 1, 4, 2   
d. 1, 4, 2, 3   e. Answer not known 
fPo;tUk; mikg;Gfisr; rpwpajpypUe;J nghpaJ vd thpirg;gLj;Jf. 
1. khtl;l Cuhl;rp kd;wk;  
2. fpuhk Cuhl;rp  
3. fpuhkr; rig 
4. Cuhl;rp xd;wpak; 
a. 1> 2> 3> 4   b. 3> 2> 4> 1   c. 3> 1> 3> 2 
d. 1> 4> 2> 3   e. tpil njhpatpy;iy 
 

83. Read the following passage and answer the items that follow. Your answer to these 
items should be based on the passage only.  
The deputy speaker who presides over the house in the absence of the speaker in 
elected in the same manner in which the speaker in elected by the House. He can be 
removed from office also in the same manner. One of his special privileges is appointed 
as a member of a parliamentary committee, he automatically becomes it’s chairman. 
Which of the following is best implied in the passage? 
a. Deputy speaker provides over the house  
b. The Deputy speaker is elected by the members  
c. He is the ex-officio chairman if he is a member of a parliamentary committee. 
d. He can be removed by the parliament. 
e. Answer not known 
fPOs;s gFjpiag; gbj;J mjd; mbg;gilapy; cq;fs; tpilfis mikf;fTk;. 
rghehafh; mitapy; ,y;yhj rkaq;fspy; Jiz rghehafh;; mitia elj;Jfpwhh;. 
rghehafh; vt;tpjk; Njh;e;NjLf;fg;gLfpNwhNkh mt;tpjNk Jiz rghehafUk; mitapy; 
Njh;e;njLf;fg;gLfpwhh;. Mijg; NghyNt mth; ePf;fg;gLfpwhh;. ,th; ghuhSkd;wf; FOtpd; 
cWg;gpduhFk;. nghOJ jhdhfNt mjd; jiytuhtJ ,tuJ rpwg;G. Nkw;fhZk; 
fUj;NjhL fPo;tUtdtw;Ws; vJ kpfr;rhpahf nghUe;JfpwJ? 
a. Jiz rghehafh; mitia elj;Jfpwhh; 

b. Jiz rghehafh; mitapd; cWg;gpdh;fshy; Njh;e;njLf;fg;gLfpwhh; 
c. ghuhSkd;wf; FOtpd; cWg;gpduhFk; NghJ Kd;dhy; mYty; FOtpd; jiytuhfpwhh; 
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d. ,th; ghuhSkd;wj;jhy; ePf;fg;glyhk; 
e. tpil njhpatpy;iy 
 

84. In which case, the Supreme Court gave judgement that directive principles cannot 
override the fundamental rights? 
a. State of Madras Vs. Champakam Dorairajan (1951) 
b. Bennet Coleman and Co Vs. Union of India (1973) 
c. Ramesh Thapar Vs. State of Madras (1950) 
d. Prabha Dutt Vs. Union of India (1982) 
e. Answer not known 
muR topfhl;b newpKiwfs; vd;gJ mbg;gil chpikfis kPwpr; nray;glf;$lhJ vd 
cr;rePjpkd;wk; jPh;g;gspj;j tof;F vJ? 
a. nrd;id khfhzk; Vs. nrk;gfk; Jiuuh[d; (1951) 
b. ngd;dl; Nfhy;Nkd; & fk;ngdp Vs. xd;wpa muR (1973) 
c. uNk~; jhgh; VS. nrd;id khfhzk; (1950) 
d. gpugh jj; Vs. xd;wpa  
e. tpil njhpatpy;iy 
 

85. Consider the following statements: 
1. Mandal Commission was appointed by Morarji Desai Government. 
2. Reservation for OBC in Government services was implemented in 1993. 
3. Indira Sawhney Vs Union of India is a case on Reservation issue. 
Which of these is/are true? 
a. 1 only   b. 1 and 2 only   c. 1, 2 and 3 
d. 3 only   e. Answer not known 
fPo;f;fhZk; $w;Wfisg; ghprPypf;fTk;. 
1. kz;ly; FOit mij;jJ nkhuh;[p Njrha; murhq;fkhFk;. 
2. murhq;fg; gzpfspy; ,ju gpw;gLj;jg;gl;NjhUf;fhd ,lxJf;fPL 1993-y; 
eilKiwg;gLj;jg;gl;lJ. 
3. ,e;jpuh rh/dp Vs. xd;wpa muR tof;F ,l xJf;fPL njhlh;ghdjhFk;. 
,tw;wpy; vJ/vit cz;ikahFk;? 
a. 1 kl;Lk;   b. 1 kw;Wk; 2 kl;Lk;  c. 1> 2 kw;Wk; 3 
d. 3 kl;Lk;   e. tpil njhpatpy;iy 
 

86. The National Development Council came into existence on  
a. 5th June 1952  b. 5th July 1952   c. 6th August 1952 
d. 6th September 1952 e. Answer not known 
Njrpa tsh;r;rpf; FO nray;ghl;Lf;F te;j ehs; 
a. [_d; 5> 1952  b. [_iy 5> 1952   c. Mf];L 6> 1952 
d. nrg;lk;gh; 6> 1952  e. tpil njhpatpy;iy 
 

87. The Second Five Year Plan was based on 
a. Indira Gandhi Model b. Mahalanobis Model  c. Harod Domar Model 
d. 20 point model  e. Answer not known 
,uz;lhtJ Ie;jhz;Lj; jpl;lk; ________ mbg;gilahff; nfhz;l khjphp MFk;. 
a. ,e;jpuh fhe;jp khjphp b. nkfyNdhgp]; khjphp c. N`uhl; - Nlhkhh; khjphp 
d. 20 mk;r khjphp  e. tpil njhpatpy;iy 
 

88. ______ is the Chairperson of the Tamil Nadu state planning commission 
a. The Finance Minister b. The Chief Minister  c. The Member Secretary 
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d. The Governor  e. Answer not known  
_______ jkpo;ehL jpl;lf;FOtpd; jiyth; Mthh; 
a. epjp mikr;rh;  b. Kjy; mikr;rh;   c. nray; cWg;gpdh; 
d. MSeh;   e. tpil njhpatpy;iy 
 

89. In Tamil Nadu, Agri-Export zones are located at: 
i. Hosur   
ii. Ooty    
iii. Nilakottai 
iv. Madurai 
a. ii and iv   b. I and   c. i, ii, and iii 
d. i, ii, iii and iv   e. Answer not known 
jkpo;ehl;by;> Ntshz;-Vw;Wkjp kz;lyq;fs; vq;F mike;Js;sd? 
i. X#h;    
ii. Cl;b    
iii. epyf;Nfhl;il 
iv. kJiu 
a. ii kw;Wk; iv   b. i kw;Wk; ii   c. i> ii kw;Wk; iii 
d. i> ii> iii kw;Wk; iv   e. tpil njhpatpy;iy 
 

90. The vision of $5 trillion dollar economy of India has fixed the target in the ear of 
a. 2021-22   b. 2024-25   c. 2026-27 
d. 2030-31   e. Answer not known 
‘5 bhpy;ypad; lhyh; ,e;jpa nghUshjhuk;’ vd;w Fwpf;Nfhs; itj;jpUf;Fk; Mz;L. 
a. 2021-22   b. 2024-25   c. 2026-27 
d. 2030-31   e. tpil njhpatpy;iy 
 

91. The theory that incorporates the concept that “population grow in geometric 
progression (multiplication) while food supply grows in arithmetic progression 
(addition)” is called 
a. Theory of demographic transition  b. Karl Marx Theory 
c. Malthusian Theory    d. Supply Theory 
e. Answer not known 
kf;fs; njhif ngUf;fy; Kiwapy; caUk;nghJ czT cw;gj;jp $l;ly; Kiwapy; 
caUfpd;wJ vd;gij fUj;jhff; nfhz;l Nfhl;ghL Kf;fpa 
a. kf;fs; njhif khw;wf; Nfhl;ghL 
b. fhuy; khh;f;]pd; Nfhl;ghL 
c. khy;J}]pd; kf;fs; njhiff; Nfhl;ghL 
d. khy;J}]pd; kf;fs; njhiff; Nfhl;ghL 
e. tpil njhpatpy;iy 
 

92. In India Goods and Service Tax (GST) Act came into effect on 
a. July 1, 2017  b. January 1, 2015  c. January 26, 2018 
d. November 8, 2016 e. Answer not known 
,e;jpahtpy; ruf;F kw;Wk; Nrit thp (GST) rl;lk; _________ eilKiwf;F te;jJ. 
a. [_iy 1> 2017  b. [dthp 1> 2015  c. [dthp 26> 2018 
d. etk;gh; 8> 2016  e. tpil njhpatpy;iy 
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93. The Government of India has decided to merge Railway Budget with Union Budget 
from the budget year 
a. 2015 – 16   b. 2016 – 17    c. 2017 – 18 

d. 2018 – 19   e. Answer not known  
,e;jpa murhdJ. uapy;Nt epjp epiy mwpf;ifia> kj;jpa epjpepiy mwpf;ifAld; 
,izj;Jr; nray;gLj;j Jtq;fpa epjp Mz;L. 
a. 2015 – 16   b. 2016 – 17    c. 2017 – 18 

d. 2018 – 19   e. tpil njhpatpy;iy 
 

94. Arrange the following events in chronological order: 
1. Wavell plan 
2. Mountbatten plan 
3. Cabinet Mission plan  
4. Simla conference 
a. 3, 2, 1, 4   b. 4, 3, 2, 1    c. 1, 4, 3, 2 

d. 2, 4, 3, 1   e. Answer not known 
gpd;tUtk; epfo;Tfis fhythpirg;gb xOq;fikf;Tk;. 
1. Ntty; jpl;lk; 
2. nksz;l; Ngl;ld; jpl;lk; 
3. mikr;ruit J}Jf;FOj; jpl;lk; 
4. rpk;yh khehL 
a. 3, 2, 1, 4   b. 4, 3, 2, 1    c. 1, 4, 3, 2 

d. 2, 4, 3, 1   e. tpil njhpatpy;iy 
 

95. Vallabhai Patel was bestowed the title of Sardar by the peasants of  
a. Kheda   b. Bardoli    c. Dhandi 
d. Champaran  e. Answer not known 
ty;ygha; gl;NlYf;F ‘rh;jhh;’ gl;lk; ve;j tptrhapfshy; toq;fg;gl;lJ? 
a. Nflh   b. gh;Njhyp    c. jz;b 
d. rk;guhd;   e. tpil njhpatpy;iy 
 

96. Arrange the following events in a correct sequence of Indian National Movement. 
I. Foundation of Indian National Congress 
II. Simon Commission 
III. Home Rule Movement 
IV. Cabinet Mission 
a. I, III, II, IV  b. III, I, IV, II    c. I, II, IV, III 
d. I, IV, III, II   e. Answer not known 
fPNo nfhLf;fg;gl;Ls;s ,e;jpa Njrpa ,af;f epfo;Tfis rhpahf thpirg;gLj;Jf. 
I. ,e;jpa Njrpa fhq;fpu]; ,af;fj;jpd; Njhw;wk; 
II. irkd; FO 
III. jd;dhl;rp ,af;fk; 
IV. mikr;ruitf; FO 
a. I, III, II, IV  b. III, I, IV, II    c. I, II, IV, III 
d. I, IV, III, II   e. tpil njhpatpy;iy 
 

97. Who founded the Poona Sarvajanik Sabha? 
a. M.G. Ranade   b. Dadhabhai Naoroji  
c. Surendranath Banerjee  d. Badruddin Tybji 
e. Answer not known 
G+dh rh;t[hdpf; rghit epWtpath; ahh;? 
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a. vk;.[p.uhdNl  b. jhjhgha; nesNuh[p  c. RNue;jpuehj; ghdh;[p 
d. gj;&j;jpd; jahg;[p e. tpil njhpatpy;iy 
 

98. On the suggestion of Rabindranath Tagore, the date of Partition of Bengal was 
celebrated as  
a. Raki Bandhan day b. Independence day  c. Solidarity day 
d. Black day   e. Answer not known 
utPe;juehj; jh$hpd; ghpe;Jiuapd; gb nfhz;lhlg;gLk; tq;fg;gphptpid jpdk;  
a. uhf;fp ge;jd; jpdk; b. Rje;jpuk; jpdk;   c. xUikg;ghl;L jpdk; 
d. fUg;G jpdk;  e. tpil njhpatpy;iy 
 

99. When was Kattabomman hanged by the British? 
a. October, 1799  b. December, 1799   c. October, 1801 
d. December, 1801  e. Answer not known 
fl;lg;nghk;kd; Mq;fpNyah;fshy; vg;nghOJ J}f;fpyplg;gl;lhh;? 
a. mf;Nlhgh;> 1799  b. brk;gh;> 1799   c. mf;Nlhgh;> 1801 
d. brk;gh;> 1801  e. tpil njhpatpy;iy 
 

100. Who wrote the book ‘India Wins Freedom’? 
a. Jawaharlal Nehru   b. Mahatma Gandhi  c. B.R. Ambedkar 
d. Maulana Abulkalam Azad e. Answer not known 
‘,e;jpah tpd;]; /gPhPlk;’ vd;Dk; E}iy vOjpath; ahh;? 
a. [tfh;yhy; NeU   b. kfhj;kh fhe;jp  c. gp.Mh;. mk;Ngj;fhh; 
d. kTyhdh mGy;fyhk; Mrhj; e. tpil njhpatpy;iy 

 


